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[TON SUMMARY
MARCH 2ND CONSOLIDhsicwv SPECIAL ELECTION

1993

REGISTRATION AND TURNOUT

* PLACER COUNTY *

COUNTY REGISTRATION -

PRECINCT REGISTRATION
PRECINCT BALLOTS CAST
ABSENTEE BALLOTS CAST
* TOTAL BALLOTS CAST

->..24 387
->..24,387
“>u.oh, bbb
->..,2,833
*>...7,297

l****************************************l****************************************l

11. 6 I
29.9 1

I****************************************I****************************************I

I "WESTERN PLACER U. S:.D. 1
I MEASURE @_r.2/3 REQUIRED - 1
1 .COMPLETE PRECINCTS 9/ 91
l UNDER VOTES. ... 2 3 -1
Tl OVER VOTES. : [ I
I 1
I BONDS ' YES...2,080 72.6 1
1 BONDS NO.:....785 27.4 1
I EUREKA UNION SCHOOL DIST I
I MEASURE R - 2/3 REQUIRED R
I COMPLETE PRECINCTS : 11/ 111
1 UNDER VOTES : 5 1
1 “OVER VOTES : 0 1
I ' 1
1 BONDS YES...1,614 70.0 I
1 BONDS - NO.....691 30.0 1

[hkkhkhhhkdhkkhdhhhkhhkkhkhhhkhhkrhhkhbkrhkrk]

1 TAHOE TRUCKEE U. S. D. r
1 MEASURE S - 2/3 REQUIRED 1
1 COMPLETE PRECINCTS = 8/ 81
I UNDER VOTES : 2 I
I OVER VOTES : 0 I
I I
I TAX RATE : YES...1 629 76.9 1
I TAX RATE ’ NO.....488 23.1 1
AR A T s X L T L R T R L T Y
I WESTERN PLACER U. S. D. ’

I * MEASURE Q *

I .

I DISTRICT REGISTRATION......7,773

I ACCUM PCT REGISTRATION.....7,773

I PRECINCT BALLOTS CAST......1,992 25.6

I ABSENTEE BALLOTS CAST........876 11.3

I * TOTAL VOTES CAST *......2,868 36.9
I****************************************
I EUREKA UNION SCHOOL DIST.

I * MEASURE R ¥ .

1

I DISTRICT REGISTRATION......9,564

I ACCUM PCT REGISTRATION.....9,564

I PRECINCT BALLOTS CAST......1,039 10.9 1
I ABSENTEE BALLOTS CAST......1,271 13.3 1
1 * TOTAL VOTES CAST *...... 2,310 24.2 1

l****************************************x

1 TAHOE TRUCKEE U. S. D.

I = * MEASURE § *

1

1
I : 1
I DISTRICT REGISTRATION......7,050 1
I ACCUM PCT REGISTRATION.....7,050 1
I PRECINCT BALLOTS CAST...... 1,433 20 1
I ABSENTEE BALLOTS CAST........686 9 1
1 * TOTAL VOTES CAST *..... 2,119 30 {
1 *h I

i**********************************
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